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AXEZ 18] 3 2/1 # 57 57 O

AREZ 28] £ 2/3 S
HREZ 28] = 2/3 Y 46 46 O
BAREZ 28] = 2/3 N 45 45 O
BAXEZ 2@ = 2/3 # 59 59 0
-0.3

AXRE= 1[g] 3 2/1 S
AXE= 11E] 3 2/1 Y 40 39 1
AXRE= 1[g] R 2/1 N 39 40 -1
AXE= 1[E = 2/1 # 50 50 O

AXRE= 28] 3 2/2 S
AXE= 2@ 3 2/2 Y 41 40 1
AXRE= 28] R 2/2 N 44 40 4
AXE= 28] 3 2/2 # 54 54 O

ARE= 3[g] R 2/3 S
AXE= 3[e] = 2/3 Y 43 42 1
AXRE= 3[g] £ 2/3 N 40 44 -4
ARE= 3[e] = 2/3 #} 59 58 1
0.3

ARE= 1[g] 3 2/1 S
HKEER 1 # 2/1 Y 47 45 2
HREER 1 4 2/1 N 43 46 -3
BX#ER 1 # 2/1 # 55 58 -3
HREER 2 g 2/2p S 41 43 -2
BXEER 2 g 2/2p 'Y 48 48 O
HREER 2 i 2/2p N 49 b1 -2
BXEER 2 g 2/2p # 62 64 -2

HREER 3 g 2/4 S
HRBER 3 g 2/4 Y 47 47 O
HREER 3 g 2/4 N 48 49 -]
HREER 3 i 2/4 # 60 61 -1
-1.2
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B B2 B 24 23 =
AATKES 1 = 2/1 s
AAT KBS 1 = 2/1 Y 40 39 1
AATAES 1 & 2/ N 38 38 0
AAT KBS 1 = 2/1 # 45 43 2
HAT KEiS 2 = 2/1p S
AAT KBS 2 & 2/1p Y 43 41 2
AT KES 2 = 2/lp N 45 41 4
AAT KBS 2 = 2/1p # 51 46 5
HA T KBS 3 R 2/2 S
HATKEIS 3 R 2/2 Y
AT KES 3 = 2/2 N 40 39 1
AATKES 3 = 2/2 # 49 45 4
HATI K515 4 = 2/2p S
HA T K515 4 = 2/2p Y
AAT KBS 4 & 2/2p N 45 45 0
HAT KEiS 4 R 2/2p # 52 47 5
AAT KBS 5 S 2/3 S
HAT KEiS 5 = 2/3 Y
AAT KBS 5 S 2/3 N 43 42 1
HA T KBS 5 = 2/3 # 52 47 5
HAT K515 & R 2/5 S
HA T K515 iSPES = 2/5 Y
HAT K505 K& R 2/5 N
HA T K505 iSPES R 2/5 # 52 47
2.7
AKX Al AF 1 2/1 s
AAAE Al AF 1 2/1 Y 48 47 1
AAAS Al AF 1 2/1 N 50 50 O
AAA Al AF 1 2/1  # 61 61 O
AAAS Al GL 1 2/1 s
SR N Al GL 1 2/1 Y 49 49 0
AAAS Al GL 1 2/1 N 50 50 O
Ak Al GL 1 2/1 # 63 63 0
AAA A2 AF e 2/1p S 44 43 1
AKX A2 AF 1 2/lp Y 53 51 2
AAAE A2 AF 1 2/lp N 53 51 2
AKX A2 AF 1 2/lp # 63 63 0
AAA A2 GL 1 2/1p S
AAAS A2 GL 1 2/lp Y 55 53 2
AAA A2 GL 1 2/lp N 53 51 2
AAAS A2 GL 1 2/lp # 65 65 O
AAA B AF 1 2/2p S 44 45 -1
AAA B AF 1 2/20 Y 51 49 2
SR N B AF e 2/20 N 54 49
HAKXKZE B AF bl 2/2p # 63 63
SN B GL 1 2/2p S
AAAS B GL 1 2/20 Y 53 51 2
AAAS B GL 1 2/2p N 54 49 5
AAAE B GL 1 2/2p # 64 64 O
AKX C AF e 2/5 S 40 41 -1
AAAE C AF 1 2/5 Y 51 49 2
HAKXE C AF 1 2/5 N
AAAS C AF 1 2/5 # 63 62 1
AAA C GL 1 2/5 S
=R N C GL 1 2/5 Y 53 51 2
AAAS C GL 1 2/5 N
HAKXZE C GL b 2/5 # 64 64 O




# B HE B 24 23 =
NEZE 1 3] 2/1 S
NEZE 1 B 2/1 Y 37 37 O
NEZH 1 = 2/1 N
NEZHE 1 3] 2/1 #; 47 47 O
NEZH 2 3 2/1p ' S
NEZE 2 3] 2/1p 'Y 39 39 O
NEZE 2 3] 2/1p 'N 39 39 O
NEZE 2 3] 2/1p  # 52 52 0
NEZE 3 3] 2/2 S
NEZH 3 3] 2/2 Y
NEZHE 3 R 2/2 N 41 40 1
NEZHE 3 9 2/2 # 51 46 5
NEZHE 4 3 2/2p S
NEHE 4 = 2/2p Y 39 38 1
NEZE 4 5] 2/2p N 42 41 1
NEHE 4 = 2/2p # 51 51 O
NEFE REHKE = 2/5 S
NEZH REHXKE = 2/5 Y
NEFHE REHKE = 2/5 N
NEZHE REHXKR = 2/5 # 51 51 O
0.7
NEFZE BHK-EE = 2/1 S
NEFZFE BHK-EE = 2/1 Y
NEFFHE BHKR-EE = 2/1 N
NEFZE BK-EE = 2/1 #; 57 57 O
NEFFE FHRERK =R 2/1p 'S
NEFZE FHRERX =R 2/1p 'Y 47 47 O
NEFZHRE FHEREX 3] 2/1p 'N 52 52 O
NEFZE FHRERX =R 2/1p  # 60 60 O
NEFZE BK-EE R 2/2 S
NEFZE BHK-EE R 2/2 Y
NEFZE RK-EE R 2/2 N
NEFZE BHK - EE R 2/2 # 58 58 0
NEFZE RK-EE: R 2/2p S
NEFZHRE RK-E&E =R 2/2p 'Y 46 46 O
NEFZFE D NEES R 2/2p N
NEFFE KR -EE R 2/2p # 60 60 O
NEFZE —BfE = 2/3p S
NEFFE —BfE = 2/3p Y
NEFZE —BfE = 2/3p N
NEFZHRE —BrE R 2/3p # 50 49 1
0.1
A A /N = 1 T 1/20 | S
NTFHbz 1 T 1/20 'Y 38 38 O
A A /N = 1 T+ 1/20 N 39 39 O
NFRAER 1 F 1/20 # 49 49 O
NFRAER 2 F 1/21 'S
NFRARR 2 F 1/21 Y
A A /N = 2 T 1/21 N
VA R RE VNS 2 T 1/21 # 48 48 O
0.0

22

B AR’ B 24 23 =
EES 1 mEN2/1 S
EAIEES 1 m N2/ Y
IEES 1 =21 N
EIIEES 1 mEN2/1 #4141 0
e 2 151% =k 2/1p S
SRUEES 2 B R 2/1p Y
21z 2 151% =4 2/1p N
UL 2 5 R 2/1p # 49 57 -8
e 3 =3 2/20 S
I IEES 3 w220 Y
211z 3 =S 220 N
IEES 3 mEN2/2p # 42 42 O
e 6 =S 25 s
IEES 6 mEd 25 Y
IIEES 6 = EN2/5 N
EES 6 wmEN2/5 # 44 44 O
2.0
REH A2 1 mEN2/1 S
REH A 1 mEN2/1 Y 38 38 0
=R NE 1 = 2/1 N
REHAS 1 wmEN2/1  # 46 46 O
REHAZ 2 =3 2/1p S
HREHAS 2 mEd2/lp Y 40 40 O
REH A 2 =N 2/1p N
REHAS 2 mEN2/lp # 51 51 0
HREH A 3 m S22 s
REHAZ 3 mEN22 Y 3838 0
HEHAS 3 =22 N
=R N 3 = 2/2 # 48 48 O
REH A 4 =220 S
REB AL 4 mEN2/2p Y 40 40 O
REHAS 4 = 2/2p N
REH A 4 mEN2/2p # 51 51 0
0.0
g 1 15 1/10 S
g 1 15 110 'Y 37 37 0
FEE 1 1% 110 N 35 35 0
g 1 i 1/10 #8 45 45 O
EHE 15 & 1/10p S
g 14714 i 1/10p Y 38 38 O
g 14714 1% 1/10p N 35 36 -1
HE 1% b 1/10p #3 45 45 O
g 2 15 1712 S
g 2 i 112 Y
g 2 %5 1712 N
g 2 15 1/12  #8 43 43 0
g 3 15 1721 S
g 3 1% 121 Y
g 3 15 1721 N
g 3 1% 1/21 #8 43 43 0
0.1




WoBl ERE B 24 23 =
Y{eEEALL 1 =Fd21 s
T{CEEALLE 1 =EN21 Y
YeBEEAL 1 =21 N
TlCREALLE 1 = 0 2/1 49 47 2
YeBEEARL 2 = 4 2/1p S
YleREALLE 2 =N 2/1lp Y 40 40 O
YeBEARL 2 = E2/1lp N 39 40 -1
YleREAELE 2 = 3 2/1p # 50 48 2
YleSEAELE 3 =22 s
X{eEAEL 3 =N 2/2 Y 40 37 3
YleEEAEE 3 =22 N
YleREAELE 3 =22 % 47 46 1
TleREAELE 4 = 4 2/2p S
Y{eBEEARL 4 =N 2/2p Y 40 40 O
YleREALLE 4 = 9 2/2p N
Y{eBEARL 4 = 2/2p 49 47 2
Y{eBEEAEL 5 =Ed2/3 S
Y{eBEARL 5 =9 2/3 Y 37 37 0
X{eBEAEL 5 =Ed2/3 N
Y{eBEEALL 5 = 2/3 % 47 46 1
X{EEASL 6 = B 24 s
Y{EEALLE 6 =Y 2/4 Y 37 37 0
X{EEALL 6 = B 24 N
Y{eEEALLE 6 = 2/4 47 47 O
0.8
SN 1 =F421 s
NE KT 1 B 2/1 Y 37 37 O
SR A 1 =N 21 N
SR A 1 =2/ % 43 43 0
A 2 = 4 2/1p S
SO A 2 =N 2/lp Y 42 41 1
€ O] 2 = 2/1p N 42 40 2
SN 2 = 2/1p % 47 47 O
A 3 =22 s
AN 3 =N 2/2 Y 40 38 2
A 3 = 22 N
AN 3 =22 47 47 O
A 4 = 220 S
KA 4 R 2/2p Y 41 40 1
SR A 4 = 3 2/20 N
& O] 4 B 2/2p # 48 48 O
SO A 5 = 4 24 s
& U] 5 B 2/4 Y 41 38 3
AN 5 = B 24 N
AN 5 = 2/4 % 50 50 O
0.8
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OB B2 B 24 23 =
FIIEE 18] = 2/1 S
B 1] & 2/1 Y 42 42 0
FIEE 18] = 2/1 N
FALIEE 1@ £ 2/1 # 59 59 O
FAFEH FaRERl R 2/1p S 36 -36
FIEE FARMEFR] =R 2/1lp 'Y 45 45 O
Ey (1155 ARl R 2/Tlp N 42 42 O
FIEE FARMEFR] = 2/1p # 59 59 0
FIBH 2 N8 = 2/2 S
FIEE 2RNI—8 W 2/2 Y
FIIEH 2NRI—8B W 2/2 N
B 2NT—8 =K 2/2 # 54 54 0
LR 2[] = 2/20 S 34 35 -1
B 2[] = 2/20 Y 45 45 0
B 2[] = 2/20 N 45 47 -2
FIEE 2[a] R 2/2p # 60 60 O
FALIEE 3IRII—8 = 2/4 S
R 3NT—E = 2/4 Y
FIEE SR/ -] 2/4 N
Ey (1155 3RII—E = 2/4 # 55 55 0
3.3
EBKFE 1] = 2/1 S 47 45 2
SHEBUKS 18 = 2/1 Y 55 55 0
SEBASE 18] = 2/1 N 56 57 -1
EBKE 1] R 2/1 # 67 67 O
EBKE 2[g] = 2/3 S 47 47 O
SEBUKS 2[] = 2/3 Y 57 57 0
SRS 2[] = 2/3 N 56 56 O
EBKFE 2[g] = 2/3 # 68 67 1
SEAE 3[] = 2/5 S 46 48 -2
SEBA S 3 = 2/5 Y 57 57 0
EBKE 3[g] R 2/5 N
EBKFE 3[g] R 2/5 # 69 68 1
0.1
SERE 13 1 2/2 S 48 47 1
SERE 1@ 1 2/2 Y 56 56 O
SERE 1E i 2/2 N 57 57 0
EREC 1] bl 2/2 # 69 69 O
SERE 2] i 2/4 S 48 47 1
SEBE 2[] 1 2/4 Y 57 57 0
BB 2] 1 2/4 N 58 56 2
SERE 2[] 0 2/4 # 69 69 O
0.5
AR 18] = 2/lp S 38 39 -1
AR 18] = 2/1p Y 47 46 1
BESARE 18] = 2/lp N 48 48 0
AR 18 = 2/1p # 61 61 O
BHRZ bt 2[8] R 2/2 S
AR 2[] = 2/2 Y 45 44 1
AR 2[] = 2/2 N 44 44 0
BRRF B 2[8] = 2/2 # 59 59 0
BSA AT 3[] = 2/4 S
AR 3 = 2/4 Y 45 44 1
BERF B 3[g] R 2/4 N 47 47 O
BRI F B 3[E] R 2/4 # 56 56 O
0.2




# Rl HE B 24 23 =
BANEF Al = 2/1 'S 41 41 0
BEANEF Al &= 2/1 Y 52 52 0
BANEF Al = 2/1 N 55 53 2
BEANEF Al &= 2/1 # 65 64 1
BANEF A2 = 2/3 'S
BEANEF A2 5 2/3 Y 55 54
BANEF A2 = 2/3 N 58 55 3
BANEF A2 = 2/3 #8 66 66 O
BANEF B4F#% = 2/50 S
BANEF B = 2/50 Y 55 54 1
BEANEF B4 = 2/50 N 57 58 -1
BANEF B #% &= 2/50 #B8 67 67 O
0.7
BHKERA 18] 9 2/2 S 56 55 1
BE KB 15 = 2/2 Y 61 60 1
BEABESA 15 = 2/2 N 62 59 3
BE KB 15 = 2/2  # 71 71 0
BEABESA 2[] = 2/3 S 57 56 1
BE KB 2[] = 2/3 Y 61 60 1
BEABESA 2[] = 2/3 N 62 62 0
B RERA 2[o] 9 2/3 g 72 72 0
0.9
EEI=BS 1 = 2/1 S
EEI=PS 1 = 2/1 Y 44 44 0
EEI=PN 1 5 2/1 N 45 42 3
BEHX 1 = 2/1 #8 55 54
BERX 2 9 2/1p 'S
EEI=PS 2 = 2/1p Y 50 49 1
BEBRX 2 9 2/T7p N
BEHX 2 9 2/1p # 62 60 2
EEI=PN 3 = 2/2 'S
EEI=PS 3 = 2/2 Y 47 46 1
EEI=PN 3 = 2/2 N 47 47 0
BEHX 3 9 2/2 #; 60 59 1
EEI=PN A%F1% = 2/4p S 38 37 1
BEBX 491, 3] 2/4p Y 49 49 O
EEI=FBS A%Ft% = 2/4p N 49 50 -1
BEBRX 491, 9 2/4p # 65 64 1
0.8

24

B B2 B 24 23 =
BE 1 AE T 1/21 S 40 41 -1
BE 1 AE F 1/21 Y 51 53 -2
BE 1 AE T 2/1 N 49 52 -3
BEe 1 AE F 1/21 # 64 65 -1
BE 1 EE =2 1/21 S 40 41 -1
BE 1 EE T 1/21 'Y 48 48 0
BE 1 EE T 1/21 N 49 52 -3
B 1 EE T 1/21  # 61 61 O
BE 2 AE F 1/25 S
BE 2 AE F 1/25 Y 51 53 -2
mE 2 AE T 1/25 N 50 51 -1
BE 2 AE T 1/25 # 63 64 -1
BE 2 EE T 1/25 S
BE 2 EE T 1/25 Y 46 48 -2
BEe 2 EE 7 1/25 N 50 51 -1
BE 2 EE =2 1/25 # 61 61 O
BE 3 AE F 1/28p S
BE 3 AE T 1/28p Y 50 49 1
B 3 AE F 1/280 N 50 49
BEE 3 AE T+ 1/28p # 64 64 O
B 3 EE F 1/28p S
BE 3 EE T 1/280 Y 46 45 1
BE 3 EE = 1/280 N 50 49
BE 3 EE T 1/28p # 61 61 O
BE 4 AE T 2/1p S
BE 4 AE F 2/1p Y 48 49 -1
BE 4 AE F 2/lp N 50 50 O
BE 4 AE F 2/1p # 64 64 O
BE 4 EE T+ 2/1p S
B 4 EE = 2/1p Y 44 45 -1
BE 4 EE T 2/lp N 50 50 O
B 4 EE T 2/1p # 62 62 0
-0.6
BiHEE 1 15 1/11 'S 31 31 0
BiaE 1 1 117 Y 41 41 0
BREE 1 15 111 N 42 44 -2
BHEE 1 15 1/11 # 54 54 0
BREE 2 15 1712 S
BHEE 2 15 1/12 'Y 40 40 O
B E 2 15 1712 N 40 40 O
BHEE 2 15 /12 # 53 52 1
BiaE 3 i 117 S
BiHEE 3 15 117 Y 39 39 0
B E 3 = 117 N 39 39 0
BiHEE 3 15 1/17 # 50 50 O
-0.1
2R E 2 % 1/07 S 38 39 -1
ZEE 2 * 1/07 Y 49 50 -1
2R E 2 %* 1/07 N 47 50 -3
ZEE 2 % 1/07 # 64 65 -1
Z2EFHE wae x 1/21 'S
227 E wa x 1/21 47 47 O
Z22FE wa /d 1/21 N
Z22FHE wa x 1/21  # 65 66 -1
1.2




B AR B 24 23 = oA BE
SR KBS =EN2/3 S 71 70 1 B3I (1/24) F 12/11
FUR A5 =ER2/3 Y 73 74 - BT (1/24) F 12/11
SR KBS =ER2/3 N 7272 0 B3I (1/24) F 12/11
PUR K5 =EN2/3 # 78 78 0 BT FEE (1/24) F 12/11
0.0
BRDOKLFH ®ES2/3 S ETARER RS & S 2/3
BRDKZFH R B 2/3 Y 47 50 -3 B ARRSE e 2/3
BROKLFH BES2/3 N 45 45 0 BT ARER RS f# S 2/3
BEDKLFEH EES2/3 # 50 50 O ETARER # 3 2/3
-1.0
EREAMEE mES2/3 S ST ERE A (1/24) T B2 12/11
ERE AR mES2/3 Y 49 51 -2 BT ERE A (1/24) F B2 12/11
EREAME #mES2/3 N 45 48 -3 Ry E- X (1/24) F B3 12/11
BmEEKEER il 2/3 #; 60 61 -1 B R (1/24) T B 12/11
2.0
BWEEXHE m s 2/2 S B EIRPE &g 2/3
WEEAHE ey 2/2 Y 41 41 O B R E M el 2/3
BWEEXHE =L 2/2 N B PRpE &g 2/3
WEEXHE sl 2/2 #M 53 56 -3 B R E el 2/3
-15
PEREE ®ES2/3 S BEANE & Ed 2/1
PERER EES2/3 Y BEANE &l 2/1
PERERE BEES2/3 N 57 57 0 BEARE & B 2/1
PERER R E2/3 B BEAME 7l 2/1
0.0
BERIEH =EI2/3 S 3L YSFHHE S 2/3
B \SH R B 2/3 Y 49 50 -1 ML YSFHE B &g 2/3
B S H R B 2/3 N 45 45 O M YSFHIE = e 2/3
BERNEH RES2/3 # 56 56 0 I YSFHHE # 3 2/3
0.3
BEAHEA BEES2/3 S 49 50 -1 [ERVEEESTE]S (1/24) T B2 12/11
PRAHES ®ES2/3 Y 57 58 -1 TR EERR (1/24) T E3 12/11
BEAHEA B®E32/3 N 55 55 0 [ERVEEESTE]S (1/24) F B2 12/11
PEAHEA =3 2/3 # 65 65 0 IR EE R (1/24) F B3 12/11
05
PEAHEA BEES2/3 S 49 50 -1 [ERYAEE & B3 1/15
BPEAHEA BEES2/3 Y 57 58 -1 LERYA:-Lil # B3 1/15
FPEAHEHA BEES2/3 N 55 55 0 [ERYAE & B3 1/15
PEAHEA RHES2/3 # 65 65 0 LERYA:-Lil & B3 1/15
0.5
XIS B = ES2/3 S Haz) | IS Hd f# S 2/3
XIS B BEES2/3 Y 58 58 0 i3z ) | IS Fd # B3 2/3
X7 B BEES2/3 N 56 56 0 az) | Hd & S 2/3
XIS B R ES2/3  # 67 65 2 33z ) | IS = P # S 2/3
0.7
BYFRERZE ®w e 1/15 S MmIZK=EER & gL 1/16
By RRPE B EN1/15 Y 50 51 -1 MILKEER 7 g 1/16
B PRTE % Ed 1/15 N EAv S % 1/16
B FERZE S 1/15 # 60 59 LK = EBR & 1/16
0.0

25
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